" it

=
5= Features :
o YVIRFUEER SR ERNERS | 551913, « IEC standard design
- EHATFHE. BFNEE. (NF. EFs2SRisEERIERE « Apply to fan/blower, pump ,compressor and etc
EYHVIE | iZFRFIBHAESSER. « Mounting: B3, B14, B34, B5, B35

HiE W BE R BESR SRR PSR TAEH 5§
RPM  FRAME VOLTAGE FREQ INS. IP CODE WGT LB/KG

YYJ6312 0.25/018 | 2800 | 63 220 1.37 50 B 1.0 55 CONT 10.4/4.7
YYJ6322 0.33/0.25 | 2800 | 63 220 1.87 50 B 1.0 55 CONT 12.8/5.8
YYJ6314 016/012 1400 @ 63 220 1.06 50 B 1.0 55 CONT 10.2/4.6
YYJ6324 025/0.18 | 1400 63 220 1.54 50 B 1.0 55 CONT 12.6/5.7
YYJ7112 050/037 | 2800 | 71 220 2.77 50 B 1.0 55 CONT 14.3/6.5
YYJ7122 0.75/0.55 | 2800 71 220 3.87 50 B 1.0 55 CONT 17.0/7.7
YYJ7114 033/0.25 1400 71 220 1.97 50 B 1.0 55 CONT 13.7/6.2
YYJ7124 0.50/037 | 1400 @ 71 220 2.87 50 B 1.0 55 CONT 16.3/7.4
YYJ8012 1.0/0.75 | 2800 80 220 4.88 50 B 1.0 55 CONT 22.0/10.0
YYJ8022 15/11 2800 | 80 220 7.67 50 B 1.0 55 CONT 26.5/12.0
YYJ8014 0.75/0.55 | 1400 = 80 220 3.83 50 B 1.0 55 CONT 21.4/9.7
YYJ8024 10/0.75 | 1400 @ 80 220 4.80 50 B 1.0 55 CONT 25.1/111.4




AD

[N
|
[ l [

AC

JMFZRT Overall Installation Dimension

AC | AD L
0.008 % 0 0 0 0.360
63 100 80 = 40+15 11 °05% M4*10 | 23+0260 4 %o, | 85 S, 6395 7% 122 125 | 170 | 217

71 112 90 | 45+15 14 *0%%  M5*125 30+0260 5 0.3 11 9 | 71 9. 770 136 141 189 | 240
80 | 125 100 50+15 19 *00%  M6*16 | 40+0310 6 9o 1559, 80 95 10°9°%° 154 | 159 | 2115 282

AC

e L YYJ-B5

Z#HR Y Mounting Dimensions (mm) SMEZRSF Overall Installation Dimension
E F G M [\ AC AD L

63 | FF115 1170905 M4*10 | 2340260 4 9., 85 9., 115 95 093 140 103>*%° 309, 125 | 107 | 217
71 | FF130 14 *00%  M5*125 30+0260 |5 905 11 9.0 130 11079003 160 | 100°%° 350, 141 118 | 240
80 | FF165 |19 "000s M6*16 | 4040310 6 0. 1559, 165 1307005 200 123°%° 359 . 159 = 1315 282

F %%Eé
! Oi g“ll n o 2
. O T {’; &%
(= < D E//ﬁ/)}
A\
1 ‘
LE ] B YYJ-B14

ZHER~F Mounting Dimensions (mm)

E F G M

63 | FT75 | 1170598  M4*10 2340260 | 4 900 85 910 75 60 0% 90 | M5 2500 125 107 | 217
71 | FT85 | 14 7058  M5+12.5 3040260 | 5 9., 11 90 85 70 002 105 M6 250, 141 118 | 240
80 | FT100 | 19 "3%0%2 | M6*16 | 40+0310 6 9.3 1559,, 100 80 *90%2 | 120 M6 309,,, 159 = 1315 282

BULERIERASE, TREZREH.



